
 
 
 

Beispielberechnung für die Verteilung der Ausschussvorsitze  
nach d'Hondt 
(bei 58 Sitzen) 

 
 

Fraktion CDU SPD B 90 / GRÜNE FDP FWG Die Linke 

Mitglieder 26 13 6 6 5 2 

Teiler  Sitz 
Nr. 

 Sitz 
Nr. 

 Sitz 
Nr.  

 Sitz 
Nr. 

 Sitz 
Nr. 

 Sitz 
Nr. 

1 26 1 13 2/3 6 7/8 6 7/8 5 10 2 25/26/27/
28 

2 13 2/3 6,5 5/6 3 16/17 3 16/17 2,5 21   

3 8,667 4 4,333 11/12 2 25/26/27
/28 

2 25/26/27
/28 

1,667    

4 6,5 5/6 3,25 14/15 1,5  1,5      

5 5,2 9 2,6 19/20         

6 4,333 11/12 2,167 23/24         

7 3,714 13           

8 3,25 14/15           

9 2,889 18           

10 2,6 19/20           

11 2,364 22           

12 2,167 23/24           

13 2 25/26/27
/28 

          

14 1,857            

 
 
 


